Measurement

Fiducial cross section

ppatys=7TeV[?]

W{, ps > 25GeV, |1°] < 2.5

W, p§ > 25GeV, |1°] < 2.5

Ze, p3 > 25GeV, |11 < 2.5,60 < mz < 120 GeV
Wi, ph > 25GeV, [t < 2.1

Wy, ph > 25GeV, || < 2.1

Zy, Py > 20GeV, [n#| < 2.1, 60 < mz < 120GeV
ppaty/s=8TeV[?]

WE, p5 > 25GeV, [1°] < 1.44,1.57 < |°| < 2.5
We, p§ > 25GeV, |7°] < 144,157 < |n¢| < 2.5
Ze, 3 > 25GeV, 11| < 144,157 < |®] < 2.5, 60 < mz < 120GeV
Wi, ph > 25GeV, |4 < 2.1

W, ph > 25GeV, [#] < 2.1

Z,, pk > 25GeV, || < 2.1, 60 < mz < 120 GeV

3404 £ 12 (stat) £ 67 (syst) &= 136 (lumi) pb = 3404 + 152 pb
2284 £ 10 (stat) £ 43 (syst) = 91 (lumi) pb = 2284 £ 101 pb
452 £ 5 (stat) &= 10 (syst) & 18 (lumi) pb = 452 £ 21 pb

2815 £ 9 (stat) £ 42 (syst) & 113 (lumi) pb = 2815+ 121 pb
1921 + 8 (stat) £ 27 (syst) = 77 (lumi) pb = 1921 £ 82 pb
396 £ 3 (stat) = 7 (syst) & 16 (lumi) pb = 396 £+ 18 pb

3540 £ 20 (stat) £ 110 (syst) £ 90 (lumi) pb = 3540 + 140 pb
2390 + 10 (stat) + 60 (syst) £ 60 (lumi) pb = 2390 & 90 pb
450 + 10 (stat) &= 10 (syst) = 10 (lumi) pb = 450 £ 20 pb
3100 £ 10 (stat) £ 40 (syst) & 80 (lumi) pb = 3100 £ 90 pb
2240 + 10 (stat) &= 20 (syst) £ 60 (lumi) pb = 2240 + 60 pb
400 + 10 (stat) 4= 10 (syst) = 10 (lumi) pb = 400 £ 20 pb




